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SUPPLEMENTARY MATERIAL
Figure S1. RMSF analysis by means of principal components analysis (PCA) for ZN1733 in complex with AChE (A),
BuChE (B), and BACE-1 (C). The blue highlighted area corresponds to regions withmore fluctuations.

Figure S2. 2D Chemical structures of AChE, BuChE and BACE-1 inhibitors used to build triple pharmacophore models
with their biological activity data [90-96]. The data was obtained from published literature and the activity units were

kept as presented in the original material.

Figure S3. 2D Chemical structures of AChE, BuChE and BACE-1 inhibitors used to pharmacophore model validation
and their biological activity data [90-96]. The data was obtained from published literature and the activity units were

kept as presented in the original material.



Figure S1. RMSF analysis by means of principal components analysis (PCA) for ZN1733 in complex with AChE (A),
BuChE (B), and BACE-1 (C). The blue highlighted area corresponds to regions withmore fluctuations.
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Figure S2. 2D Chemical structures of AChE, BuChE and BACE-1 inhibitors used to build triple pharmacophore models
with their biological activity data [90-96]. The data was obtained from published literature and the activity units were

kept as presented in the original material.
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Figure S3. 2D Chemical structures of AChE, BuChE and BACE-1 inhibitors used to pharmacophore model validation
and their biological activity data [90-96]. The data was obtained from published literature and the activity units were

kept as presented in the original material.
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